Geometry 1.3 *8th standard
Find the distance between 2 points

Find the midpoint of a segment
coordinates®

pythagorean theorem® R 20 2
distance A*+b =C
irrational number \l |7

midpoint @ 4w dist cack

segment bisector Crasses @ vv\,p

activity: string

Quiz 1.1-1.2 tomorrow
There will be (at least)
one construction



How far is it from here to Murdo? (odometer)
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5 KeyConcept Distance Formula (on Number Line)

Words The distance between two points is the
absolute value of the difference between
their coordinates.

Symbols If Phas cgordinate x, and @ has coordinate
Xp, PA =X, — x,foqx, — X

Would it make sense for a distance to be negative?



Use the number line to tirffd BE. AB C D E F
~——————— - >——t—
—7=6-5-4-3-2-1 01 2 3 4 5 6 7

Use the number line above to find each measure.
1A AC = 3 1B. CF 1C. FB



Pythagorean theorem ﬁ N

Example 2

Find the distance between C(—4, —6) and D(5, —1).
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Practice

Find the distance between each pair of points.

2A. E(—5,6) and F(8, —4) 2B. [(4, 3) and K(-3, =7)
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Marilyn's quiz scores are:

How do you find the average?
(halfway in between...)



Midpoint of a Segment The midpoint of a segment is the point halfway between
the endpoints of the segment. If X is the midpoint of AB, then AX = XB and AX = XB.
You can find the midpoint of a segment on a number line by finding the mean, or the

average, of the coordinates of its endpoints.

| KeyConcept Midpoint Formula (on Number Line)

If AB has endpoints at x, and x, on a number line, M
then the midpoint M of AB-has_coordinate ’ . a
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GuidedPractice

3. TEMPERATURE The temperature on a thermometer dropped from a reading of
257 to —8°. Find the midpoint of these temperatures.
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String: halfway for x, halfway for y

Example 4




» GuidedPractice

Find the coordinates of the midpoint of a

-y
segment with the given coordinates. (é—L e 10 )
= 2
4A. A(5,12), B(=4,8) )

A
4B. C(—8, —2), D(5, 1) g ’ /
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How is this question different? E]" 5N

Example 5

Find the coordinates (f J)f K(~1, 2) is the midpoint of JT and L has coordinates

(3, —5). (“S’Cj )




Example 6
ALGEBRA Find the measure of PQ if Q is the midpoint of PR.
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One picture is worth 1000 words...

GuidedPractice
6A. Find the measure(f YZ if Y is the midpoint of XZ and XY = 2y — 3 and

YZ =27 — 4x.
6B. Find the value of x if C is the midpoint of AB, AC = 4x + 5, and AB = 78.

Ax-3  27-Yy
X Y 2



*Any segment, line, or plane that intersects a
segment at its midpoint is called a segment
bisector. In the figure at the right, M is the

midpoint of PQ. Plane A, MJ, KM, and point
M are all bisectors of PQ. We say that they
bisect PQ.




p.30

W Construction Bisect a Segment

Draw a segment and name it AB. | ST Using the same compass setting, Use a straightedge to draw CD.

Place the compass at point A. place the compass at point B and Label the point where it

Adjust the compass so that its draw arcs above and below AB intersects AB as M. Point M is
width is greater than J AB. s0 that they intersect the two the midpoint of AB, and CDis a
Draw arcs above and below AB. arcs previously drawn. Label the bisector of AB.

points of the intersection of the
arcs as Cand D.
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